RAMP 1
EXIST. CURVE 1C EXIST. CURVE 1B EXIST. CURVE 1A
PI STA. = 129+485.24 PI STA. = 123+17.19 PI STA. = 111+26.92
A= 35° 01 117 (LT A= 92° 40" 207 (LT A = 62° 36" 14”7 (RT)
D = 13° 46’ 24" D = 10° 29" 37" D = 7° 30" 00”
R = 415,99 R = 546.00’ R = 763.94"
T = 13124 T = 572.08" T = 464,52’
L = 254.26' L = 883.12" L = 834.72'
E = 20.21" E = 244.82' E = 130.14"
e = N.C. e = 0.080 e = 0.080
STA 900+30.00 (IL RTE 16) = TR, = _____ T.R. = _____ T.R. = e
STA 104+00.00 (INDUSTRIAL DR) S.E. RUN = _____ S.E. RUN = _____ S.E. RUN = _____
P.C. STA. = 128+453.99 P.C. STA. = 117+45.11 P.C. STA. = 106+62.39
P.T. STA. = 131+08.25 P.T. STA. = 126+28.23 P.T. STA. = 114+97.11
A\ _ LOOP 1
—
/ — - - EXIST. CURVE 5A EXIST. CURVE 5B EXIST. CURVE 5C EXIST. CURVE 5D
- —_ - == _— PI STA. = 507+63.34 PI STA. = 509+66.28 PI STA. = 522+79.74 PT STA. = 528+95.37
" - A = 19° 05" 55" (RT) A = 38° 11Y 507 (RT) A = 220° 34’ 29" (RT) A = 14° 59 59" (RT)
== D = 9° 32’ 58" D = 19° 05’ 55” D = 12° 43 57 D = 7° 30° 00"
R = ©00.00" R = 300.00" R = 450.00' R = 763.95
T = 100.94" T = 103.88" T = 1,217.34 T = 100.58’
L = 200.00’ L = 200.00’ L = 1,732.39 L = 200.00"
£ = 8.4% £ = 1747 E = 1,747.85 E = 6.59
e = 0.080 e = 0.080 e = 0.080 e = 0.080
T.R. = _____ T.R. = _____ TR = _____ TR. = _____
S.E. RUN = _____ S.E. RUN = _____ S.E. RUN = _____ S.E. RUN = _____
P.C. STA. = 506+62.40 P.C. STA. = 508+62.40 P.C. STA. = 510+462.40 P.C. STA. = 527+94.79
P.T. STA. = 508+62.40 P.T. STA. = 510+62.40 P.T. STA. = 527494.79 P.T. STA. = 529+94.79
—_—
F} P‘V \
BASELINE RAMP 1
STA 119+00
EX 36" X 158" RCCP
STA 138+53.61 (IL RTE 16)
STA 131+08.25 (RAMP 1)
STA 128400, 55" LT
EX MED INLET (2250)
STA 128+00
EX 6/ X 282.25" BOX CULVERT
BASELINE RAMP 2
BASELINE LOOP
4 /
4)0 /
RAMP 2 ,ng
EXIST. CURVE 2C EXIST. CURVE 2A EXIST. CURVE 2B /l/é\
PI STA. = 201+75.91 PI STA. = 212+77.74 PI STA. = 217+64.54
A = 13° 58" 55" (RT) A= 91° 267 47" (RT) A= 21°25° 27" (RT) 2 :
D = 4° 09" 40" D = 9° 32" 58" D = 7° 30" 00" EX 36" X 70 s
R = 1,376.97 R = 600.00" R = 763.93’ - Q/
T = 168.85' T = 615.34' T = 144.51" @
L = 336.02’ L = 957.62" L = 285.65 @/
E = 10.31 E = 259.4¢4 E = 13.55 ,\Q}
e = e = 0.080 e = 0.080 . \e
TRo: TRz TR o= (%) Q
S.E.RUN = _____ S.E. RUN = S.E. RUN = _____
P.C. STA. = 200+07.06 P.C. STA. = 206+62.41 P.C. STA. = 216+20.03
P.T. STA. = 203+43.08 P.T. STA. = 216+20.02 P.T. STA. = 219+05.68
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